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I 1 mwn: payment for 1an 179 (v. 1) and all nmn obligations — Tyrian coin (8x value of “standard” currency)

a  Variant explanations (in 8753): "aR "1 — Arab 117 (5 DyY0 = 1 gold Arab coin); ®y1n *3: Syrian coin, sold at 8 per 137 (5 of
those are paid to 1n3); 131 "7 — Hadiranic or Trajanic coin that is rubbed out, sold at 25 nr; take away 1/5 (after correc-
tions) — 20 11 given for 120 »19

b Examples: 30 for death of slave (v. 2); 50 for nnam onR (v. 3) and 100 for y1 ow ®xn (v. 4)

i Justification: in vv. 3-4, "09pW” not mentioned, XR"10 payment may be of regular it — 9"np
1 Reason: we infer them from each other

¢ Substitute: all may be paid with any form of barter (903 or qua NMMWVY) except for Ypwn nxnn

i ap79399Yn ,0%pY and 11R7 require proper coins
1 obpw. per k3 0OpY — they may (only) be combined with gold coins to make transport easier
2 ywypperv.1l
3 VAT per qOY '7's explanation — that the n 1y shouldn’t become filled with silver dust

I  Discussions of various coinage issues
a  AN37 the Yo of the nn is 3 1/3 of ours —

i Proof: own of v. 5 — 20 pyn per Ypw; Rn»12 - 6 nyn=1 117 (6x3.3 = 20)

1 Challenge: payment of 49 »50+49 1vma for redemption of MNR NTw (if at beginning of Y21 — 1 YY0+1 112
per year), extra ™ for V179119 (moneychanger fee- n”an") — but then a 5o=4 117 (contra R17)

2 Answer: they added to coinage, per i’ (v. 6 — allowing for inflation) vs. ®yn (v. 7) banning devaluation

ii ~ Story:»wR "7 sent 17 nt for 1an 1v719, requested 1/3 back (3.3 x 5=16.6)
1 Response: since they increased values, he should have sent 20

b ~227 /7 the default value of Qo3 mentioned in the NN is Y9U; in DR221 — PIVY (25 YHV); in DX2INI — PIVYH (100 YHO)
i Exception: v. 8 (11ay) — which was p01p — in some places, a X107 is called "RYpn” (=Hpw)

¢ NwwIn ‘T the rabbis wanted to ban all silver and gold as a precaution against n%yn (of moneys taken from n’>w1v)
i Until: they found a leniency in v. 9 — that money has become profaned
ii  Challenge: based on consideration of 119, there was never a concern (2'9¥17 is not D2y 217)

iii Rather: they wanted to ban use of Hadrianic and Trajanic rubbed out coins etc. (used v. 9 as 1n’n)
d A1’ 37 (quoting »ox 37): all "o3” in NN is Tyrian; all rabbinic "qo3” is N1 qo3 (7/8 copper, 1/8 silver)
i Challenge: v. 10 indicates q0, yet the minimum claim must be 2 qv3 nyn
1 Answer: in that case, o3 is compared to 093; must be 2 (like 0’93) and 21wn 727 (like qo3)
it Challenge: v. 11 —w"yn 59N, which, per v:n "Y1, may be done with a 5o of myn
1  Answer: 2 mentions of qv3 in v. 11 allow for other coins
iii ~Challenge: v. 12 stipulates "yo3” for wTpn NN, yet YRNW's ruling allows for (even) nv11a MW to be used
1 Answer: v1pn is inferred from w”yn via WMp::07p
iv  Challenge: v. 13 is w"2’s source for nwR v11’p being 71>7; but N2 allows for 9wy NVIY; does *or "1 rule like v"a?
v Rather: »or '7's statement should be modified: set amounts in "N (e.g. 72Y YV '9) are *Mx qo3; if 3277 — NN qOI
1 Challenge: we already learned that principle in our mwn
2 Answer: 27 half of 'oR 1’s formula — that rabbinic amounts are N qo3 — is needed
(a) For example: v:n p"a — fine for hitting someone’s ear is a Y90 — not 4 11, rather %4 11
(b) Story: ®wra 110 hit someone’s ear, was fined 2 111 and he had a rubbed out coin of 1 11, the plaintiff
didn’t want to take it and give him change — so he hit him on the other ear and paid 1 full (bad)
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